
P5 Grid Multiplication Practice – Second Level 

Use your strategies to solve these multiplication problems 

1) 345 x 32 
 

x 300 40 5 
30 9000 1200 150 
2 600 80 10 

Working out –  
9000 + 1200 = 10200 
600 + 150 = 750 
80 + 10 = 90 
 
10200 + 750 + 90 = 11040 

2) 457 x 43 
 

x    
    
    

Working out -  

3) 237 x 18 
 

x    
    
    

Working out - 

4) 596 x 43 
 

x    
    
    

Working out - 

5) 458 x 54 
 

x    
    
    

Working out - 

6) 239 x 93 
 

x    
    
    

Working out - 

7) 384 x 20 
 

x    
    
    

Working out - 

8) 405 x 73 
 

x    
    
    

Working out - 

 


